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	30 - 13 = ?

13 + ? = 30

? = 17

30 - 13 = 17
	48 + ? = 63

63 - 48 = ?

? = 15

48 + 15 = 63


· Calcule :

	10 - 1 = 9
20 - 1 = 19
50 - 1 = 49
75 - 1 = 74
100 - 1 = 99
100 - 2 = 98
100 - 3 = 97

	10 - 2 = 8
20 - 2 = 18
50 - 2 = 48
75 - 2 = 73
100 - 4 = 96
100 - 5 = 95
100 - 6 = 94
	15 - 5 = 10
20 - 5 = 15
50 - 5 = 45
75 - 5 = 70
90 - 5 = 85
100 - 5 = 95
104 - 5 = 99
	100 - 10 = 90
200 - 10 = 190
500 - 10 = 490
750 - 10 = 740
800 - 10 = 790
950 - 10 = 940
245 - 10 = 235
	87 - 10 = 77
59 - 10 = 49
150 - 10 = 140
325 - 10 = 315
205 - 10 = 195
751 - 10 = 741
999 - 10 = 989


· Calcule :

	7 5 4 

-  2 0 1

5 5 3
	
	810 3 

-  16 9 2

1 1 1
	
	91315 

-  1114 6

7 8 9
	
	81716 

-  1117 9

6 9 7
	

	
	
	
	
	
	
	
	

	3 214 8 

-  110 6 4

2 1 8 4
	
	4151013 

- 1 1718 6

3 7 1 7
	
	910 110 

-  1  210 3

8 8 0 7
	
	8161411 

-  171814 3

7 9 8
	

	
	
	
	
	
	
	
	

	7111315 

-  1  1518 9

 6 5 4 6
	
	71313 5 

-  1  17 8 0

 6 5 5 5
	
	8 1 412 

-  1 013 8

7 1 0 4
	
	7111012 

- 151910 3

1 1 9 9
	


· Pose en colonnes et calcule :

	806 – 94 = 712
	207 – 80 = 127
	403 – 344 = 59
	903 – 747 = 156

	810 6

-  1    9 4

7 1 2
	
	210 7

-  1   8 0

1 2 7
	
	41013

- 1314 4

5 9
	
	91013

- 1714 7

1 5 6
	


	5 428 - 519 = 4 909
	6 527 – 1 093 = 5 434
	8 006 – 370 = 7 636
	3 041 – 1 950 = 1 091

	514 218

-  1  511 9 

4 9 0 9
	
	6 512 7

-  110 9 3 

5 4 3 4
	
	81010 6

-  1  13 7 0 

7 6 3 6
	
	31014 1

-  1119 5 0 

1 0 9 1
	


